

$$5 : 4 = 10 : 8$$

$$\begin{array}{ccc} \downarrow & & \downarrow \\ \text{(비율)} \frac{5}{4} & & \text{(비율)} \frac{10}{8} = \frac{5}{4} \end{array}$$

두 비율이 같으므로 비례식이다.

$$9 : 3 = 6 : 4$$

$$\begin{array}{ccc} \downarrow & & \downarrow \\ \text{(비율)} \frac{9}{3} = 3 & & \text{(비율)} \frac{6}{4} = \frac{3}{2} \end{array}$$

두 비율이 같지 않으므로 비례식이 아니다.

☺ 비례식에 모두 ○하세요.

$$4 : 8 = 6 : 12$$

$$5 : 3 = 3 : 5$$

$$5 : 2 = 4 : 10$$

$$1 : 3 = 10 : 13$$

$$6 : 1 = 24 : 4$$

$$9 : 2 = 18 : 2$$

$$10 : 5 = 40 : 20$$

$$4 : 10 = 40 : 100$$

$$7 : 9 = 35 : 45$$

$$5 : 12 = 24 : 15$$

$$25 : 10 = 100 : 40$$

$$30 : 25 = 5 : 6$$

$$15 : 20 = 60 : 80$$

$$12 : 16 = 27 : 30$$

$$9 : 15 = 60 : 100$$

정답

